AB & R &
SM4E11H6B(A)
N 4 K £ Tk 14 > =41 HDCP ST 7 ]
& B HiE & 34 34 68 8.0 60.0 500
B F)l IEtE 43 47 90 24.0 66.0 400
31 NHE X 43 41 84 15.0 69.0 300
441 XA At 40 41 81 12.0 69.0 200
5 = 42 40 82 12.0 70.0 100
61iL FF B— 40 41 81 11.0 70.0
741 Rk E# 42 42 84 14.0 70.0 90
81iL BEX T 48 42 90 20.0 70.0
9fiL B E— 41 42 83 13.0 70.0
10{iz KE 2 42 39 81 10.0 71.0 75
1141 Xig # 43 41 84 13.0 71.0
12431 BK F 39 42 81 10.0 71.0
134 we Fi 36 46 82 11.0 71.0
1441 fall =81 40 37 77 5.0 72.0
1541 IRE —X 43 42 85 13.0 72.0
1641 BEME {EiE 40 39 79 6.0 73.0
1741 BRIER  PETE 44 39 83 10.0 73.0
181 B EF 43 43 86 13.0 73.0
1941 NTIIE 55| 47 44 91 18.0 73.0
201z BEE EH 48 47 95 22.0 73.0 75
2141 AN X& 44 39 83 9.0 74.0
221 RR  #E 45 39 84 10.0 74.0
23{1 BmAH FE 47 40 87 13 74
2441 EH & 47 44 91 17 74
2541 F EX 39 45 84 10 74
2641 mE %E 46 49 95 21 74
2711 WRE i 41 37 78 3 75
2811 8 EN 44 41 85 10 75
29{1 HH KT 41 42 83 8 75
304 Bk EBE— 47 43 90 15 75 75
3141 FH #Ht 46 43 89 14 75
324 x5 ®HE 47 44 91 16 75
3341 b= 2= - 52 45 97 22 75
3441 Ik 48 52 100 25 75
35 AH 1B 46 43 89 13 76
364 Wal EER 49 44 93 17 76
3711 Wk 18 50 45 95 19 76
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381iL M= Bf 49 47 96 20 76
391 =H FHi 47 40 87 10 77
4011 HLE # 46 42 88 11 77 75
4141 =H BE 43 42 85 8 77
4211 mR Ea 45 44 89 12 77
4311 EN Bz 43 44 87 10 77
4441 R K& 42 45 87 10 77
45{1 BA #Bif 51 46 97 20 77
4611 iz g 43 47 90 13 77
4741 21 46 47 93 16 77
4811 AT Hi& 46 47 93 16 77
4941 RR £z 53 51 104 27 77
501z ha BE 46 40 86 8 78 75
5141 R EE 48 42 90 12 78
521 1Bk BEX 49 43 92 14 78
531 B OREA 45 43 88 10 78
5441 B A 49 46 95 17 78
55{i Bl RE 47 47 94 16 78
561 25 Mir 43 47 90 12 78
5741 AR 49 40 89 10 79
58 FIER 5% 51 44 95 16 79
5941 = OB 43 44 87 8 79
6011 ER &R 45 46 91 12 79 75
6141 ma BFE 49 52 101 22 79
6211 Him B 47 53 100 21 79
631iL Bt ®BHEF 48 55 103 24 79
6441 RKAR EA 51 39 90 10 80
6511 K& fz 48 42 90 10 80
664 HiE F5EA 47 42 89 9 80
6711 B @B 46 44 90 10 80
681iL Fe¥ RaA 47 46 93 13 80
6911 WA IESE 51 50 101 21 80
704z KR HE 52 56 108 28 80 75
7141 BX &=A 53 41 94 13 81
7241 ¥HE E& 49 46 95 14 81
73{1 XKH FFE 49 50 99 18 81
7441 A BAF 45 51 96 15 81
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7541 A0 f#EE 56 52 108 27 81
7641 BIR REE 46 52 08 17 81
7711 e HF 53 55 108 27 81
7811 fek &1 53 58 111 30 81
7941 FafE  B— 48 43 91 9 82
801z =% Bt 45 51 96 14 82 75
8111 ARAK BE/\M 57 52 109 27 82
821 N\ &% 51 46 97 14 83
831 a5 Bt 53 52 105 22 83
8441 BE =EA 55 63 118 35 83
85{i1 B OB 49 45 94 10 84
861 EH —R 49 46 95 11 84
8711 #EX —Ik 46 48 94 10 84
881 A% EA 53 49 102 18 84
8911 mll Et 49 58 107 23 84
901z FE BAX 46 47 93 8 85 75
911 HE Z=ZMHER 50 50 100 15 85
92{1 XHE 8h 61 52 113 27 86
9313t V) G 51 47 98 11 87
94{1 HE #H— 53 48 101 14 87
95{1 =g £E 57 55 112 25 87
9613 5 ®= 56 55 111 23 88
9711 HH & 55 49 104 14 90
9813t Rl EZ 53 53 106 16 90
99{st TH O EH 51 56 107 17 90
1004z TE A 54 54 108 16 92 75
10141 =i EF 54 61 115 22 93
BBE ¥ ExMF 65 74 139 40 99 120
1031z R’ FE 65 51 116 15 101
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